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Distributive Property 6x13 |
h _ !
Multiplying a sum by a number is the same as think |
multiplying each number in the parenthesis by that | |
number and then adding them together. 6x (10 + 3) _ |
. , !\l-///. )
(think: “the only one with addition and € ow think
| multiplication in the same problem” ‘
¢ % ’ P ) X (10 + 3) = (6 xHS\._.mewu
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eats are in the splash zone. H
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Bob's comi uter ha@ard drivesgabytes of space

~ each ﬂ@ ard drives ' 16) gabytes of space each. The

files on computer{use|78 gigabytes of space. How much hard

drive space does his computer have left?
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